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1. fiRm e & 9w @ gfe 4 g

ey gadT8y |

A. 99, 8 1, Eq afie |

B. Sd—Md, SHR—INE, TAS Bf
fvrers Y £ |

C. T Y U7 & Y8 drel &7

D. dER®R 1 H8, 480 HUX I
TR |

2. M R T g TRy @1 T
a1l 87
A. S DTGl BT AT |
B. H&x fafsan)

C. 3qwH 9%] |
D. \HE Pl &1 A |

3. ‘diferarfee amr &1 ve 87

A. gaf B.
C. B D. ¥g

4. =fafea & | o 91 ag99 o1a @1 |
g el 87
A. dApIdd FaHH
B. gof &
C. few gaa=
D. EgeqAg aar

PSG1

fea v TENY & MR W Ug HeEr
5—8 T & T oIy |

EHY 7 IERH UITEE & HRU g9
0TS & 9 37| S=F Iu-—ue ule
P IAUAT INR HEG Bl U A |
T 950 991 91a D1 | ) e 7 sHd
A1 gEdY AT T | SEH 1
JTHT T e If¥E R AT g
IH-AFHT & fow T Sen AR g8
AAGETT I T4 fdhar oid 99 =18
TR A T HO o GIG §AT AT| SHA |
U ARG G S HaY T 37 |
BTy ©] STeTT | O e faareer 99 fAetar

TP WY 14 99 ufo-aanT @ 915
& Geg HH T B Hha | Adlee B
g B B forg sffer avEs @ik
W] & fofg3ue gE—adwd W) gl
% I&E—HUSK H giRgarl

EAY M @ WY 999N & forg &l
gy

A. G @ Har % o |

B. O @t amsm & &RoT|

C. 9IS & ufe 3t U9 & SR
D. Sffer & ¥ w1 % o |

oEP Pl 91 §F B7

A. IHEE IN—T7C BISHY aard &
Fel Y |

B. wemur ] WIg W F 9 999
el Y |

C. Sfifen @ wewor | fagnr & |

D. W@AaRI A S # fAvg A $5
o1 forar|

Sfer 5 @ afeige 8 fear

A. e o faare fde |

B. 391 g89 Wrar & [danT e |

C. EHY @] IHGS F A g4 &
forg o= faar |

D. HERe ga@i &1 =T &)

3731 ¥ BT T BT | 59 URh 9 o

T T aegd & ?

A. Sffer & & s @ 9 B
g F8 e

B. Sfiar &7 Fdew ¥ Uit ¥ 9 &
\‘g'{ﬂ th] TN ] t{?;TI

C. ST F1 9=T 989 THS! & [GarT
P BT BT TS |

D. 98 faqre &< a1 & = ¥ ufd 78
Mg |
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10.

b

12

13.

“HAHEH S G 9AE 8 ?
A. THIRY FHE

B. Tc®Y WA
C. I@ERME w9 Y

D. Fgdife wu
fferfad aea—amas gmi & & &9 W

. g @) g | gE e B 98T B

A, IR B. afgem

C. d« D. #Hgd

s W= & fo Sfae vy &1 999

Y| B4 EA—gFE @ wae 89 @
gl

A. fyEE B. ¥

C. =% D. u§s

17.

18.

19.

IS TA THE BT TG DY |
A. R s AR
B. 3R, ety g
C. TR HN® ETD

D. dRpwgen, g

fr=fafaa arearet # forv ve wreg #
Y B W1 gafera 78 87

A. ST 99 & Y 8 — Ui

B. Sl <& &l off ¥ddl — 3G¥d
C. o1 anfawy =8 @ — wify

D. S 9&XT <4l & — uEd

fAfoiae =t & & EitferT vre vifey |
A. T B. 07
C. T D. Tmfa

frferfaa aredt § & Wy g @

UEEH BT |

A. ¥ §H USRI, T 98 9|

B. W < @1 U3 foraer 2

C. ™ 39 gRsm &1 Sevy & f oden
H I IF U T |

D. o/& #f 39 fAam & a@ar {30
HY HO § WY G § |

14, fr=faftd § § o v ane e | 20, i 3§ 9 G gea o el ufife
&1 el TE 87 BT TEN 87
A. 9HI-9TT BT
B NN Ba /Y B. YA §& DX 8 Wl
C. o D. g C. TH-HI §& AP &
D. #& # gl 3
15. syE fadim g &1 939 i |
A SET-TWR B, Yd-sred
C. F9-ab D. URe—difd®
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21. Which of the options would be the 21. Qg Mﬁﬂﬁmﬂ @ o1 faecy
sixth figure in the following series? 3T ?
B ci|l@ H||IL Mm||la R||V W B Cl|ld H|IL M|l R||lV W
a F . P u a F K P w
Dj||Jd I{jeo N[ T S5||Y X E Dl|Jd Hjjea WN|{T glly X
o1 2 3 a 5 1 2 3 4 5
A A B B B > A A A s B B B % A
¥ c c D D c L H W]
A D ¢ [a 8 D
= nzc D, A s = _sz-! % Al e
22. Select the fraction that can replace the ~ 22. @8 P g4 o Fr=rfaifaa oot & v
question mark (?) in the following fag () @1 == o 9Far 2
series.
43216 8 4, 643216 8 4,
9’2781 2437729" 9727'81'243° 729"
. B-tile A 2 B ot
1539 2187 1539 2187
v 2 4 2
C. 153 D. 2187 C. 1s39 D. 2187
23. Which of the following words can be 23. &9 ¥ @9 9 Y1« ®da EEELLPSS
formed using all of the letters JERT BT WART TS G111 A FHal & 7
EEELLPSSS, but none other?
A. STEEPLESS B. SPELLSETS A. STEEPLESS B. SPELLSETS
C. SLEEPLESS D. EPISTLES C. SLEEPLESS D. EPISTLES
24. Three of the following four letter- | 24. &9 IR &R — ¥qel H ¥ O fabat
clusters are alike in a certain way and UHN | T & AR T T |
one is different. Pick the odd one out. g @1 fafea & |
A. CHSX B. IKPR A. CHSX B. IKPR
C. DIQW D. AFWZ C. DIQW D. AFWZ
25. Selectthe letter-cluster that can replace 25, @8 3@R—aqE 9 wil Fr=ifafaa sjaan
the question mark (?) in the following # 9o — Q) & WM & 9@ar 81
series. LJB, NIY, PHV, RGS, TFP ?
LJB, NI1Y, PHV, RGS, TFP, ?
A. VEM B. VEN A. VEM B. VEN
C. WEM D. VFM C. WEM D. VEM
10210804205 PA/AB
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26.

21

If DAMSEL is coded as AEDLMS,
how will VALOUR be coded as?

A. AUVROL
C. AVUROL

B. AOULRV
D. AROUVL

Select the option in which the numbers
are related in the same way as are the

numbers in the given sets.
(6, 15.30) and (12, 14, 84)

26

27,

afe DAMSEL &7 AEDLMS & %9 ¥
@edg fdar 7 8 o VALOUR &1

frd e deag fHar s
A. AUVROL B. AOULRV
C. AVUROL

D. AROUVL

s # wafd § o R U g e
¥ e Hald |
(6, 15, 30) 37 (12, 14, 84)

A: (12,16,32) B. (16;12,36) A. (12,16,32) B. (16,12,36)
C. (12,16,48) D. (16,12,72) C. (12,16,48) D. (16,12,72)

28. Select the option in which the numbers 28. 98 @y @ fored EvTe 9l UaN
are related in the same way as are the FE F FeEd & oY g v g |
numbers in the given pair. | Hafd § |
(7, 343) (7,343)

A (5,125) B. (4,16) A. (5,125) B. (4,16)
C. (3.81) D. [25,125) €. (3,81) P (25125)

29. If oats are called carrots, carrots are ~ 29. A &S &Y MO HET W1 &, TR DI
called blimps, blimps are called flowers, fee = a1 e &, v @1 Hie HE
flowers are called stones, stones are ST &, Wl @l Utk HET Il % TR
called balloons and balloons are called S YERT HET T £ IR TER #H
toys, then what do buds bloom into? Raei=T 8T Sirar 8, ol dferdl Racay

& g 87
A. Flowers B. Balloons A. | B.
C. Stones D. Toys C. Te@R D. %

30. Select the option in which the letter- 30. 9 faded g o ER—u9E 99 YHR
cluster is related in the same way as is 30 ¥ Hefe & i f@am mar ser—aE
the letter-cluster in the given set. SEIECE
INQS INQS
A. FIMP B. PTWY A, FIMP B. PTWY
C. NQTV D. DHKN C. NQTV D. DHKN

31. Which of the following strings of letters =~ 31. F=faRag # & 5w R siger @
can be prefixed to the strings (IGHT), e (IGHT), (AME), (EW) 3R (AT)
(AME), (EW) and (AT) to make H ugd UR W e &, Sl
common words that can be found in ol Aol Sresier H 910 W Wohd 27
an English dictionary? :

A. (BR) B. (SH) A. (BR) B. (SH)
C.(PL) D.. (FL) (B8] & by D. (FL)
PA/AB 10210804206

ULLIRE TR L

__u._.__u_—_______nl




10210804207

32. Inalanguage, 'mohu rupt nyrk' means 32. U& wieT §, ‘mohu rupt nyrk’ @7 3

'intelligent and hardworking', 'mohu triv qi&ar 3R gR&ET, ‘mohu triv jech’
jech' means 'tests and examinations', @1 aied ‘gaEe sk gdEn, jech lyge’
'jech lyge' means 'examination 1 aef 9hET W9 3R ‘stoj rupt’ @
questions' and 'stoj rupt' means et ‘gfgam owR 2| a b arore @1
‘intelligent answers'. What will be the af e i IEY BT
expression that means 'questions and '
answers'? .
A. mohu lyge stoj A. mohu lyge stoj
B. nyrk rupt mohu B. nyrk rupt mohu
C. nyrk mohu triv C. nyrk mohu triv
D. sto) nyrk rupt D. stoj nyrk rupt

33. Select the correct mirror image of the | 33. % 7U w1 w8 g9v1 nfdfda o)

given combination.
METALS LHEJJLQ
A, @IATEM 8. METALR A GJATEN s METAR
GJATEIM - SLATEI c. @IATEl p. GLATEM

34. Suman leaves her home, turns left, R an
walks 300m towards the north and s %ﬁm% aﬂ'\’m:qﬁrg?fig
reaches the Mahatma Gandhi junction. e
From there, she turns right and walks wgd T$| 981 ¥, 8 18 3R FH iR
S00m to reach a hospital to visit an Ue dR 73 @ e @ faw s0om
ailing friend. After that, she turns right TADY IR | IHD A5, I8 qIY
to go to a supermarket. After shopping JeaN TP H g Wqﬁﬁg 1
from the SUPEI‘H’IH.I’REL she walks m a;m ﬁwwm
straight to her house. In which direction s SR 41 T
does the road from the Mahatma i gl fi?:'\gtﬁﬁ?ﬂ ¥ G:_Ln 87
Gandhi junction to the hospital run? a® DI Hed :

A. Eastto West  B.North to South A @HURE B, 9w @ g
C. South to North D.West to East C. S ¥ I D. uftew &4 od

35. Three of the following four options are 35. = o fAFcul § 9 &9 0 R |
alike in a certain way and one is different. HH & 3R UF I B | U B
Pick the odd one out. fafea &9
A O L, O &

- EO EG A O oo
o DRl e & fo;
© MG [=](® C G (=]
10210804207 PA/AB
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36.

37.

38.

Select the option in which the terms
share the same relationship as that
shared by the given pair of terms.
Square : 4

A. Decagon :5 B. Pentagon:9

C. Hexagon :7 D. Octagon : 8
Select the option in which the words
share the same relationship as that
shared by the given pair of words.
Paper : Book

A. Phone : Talk
C. Metal: Coin

B. Wheel : Car
D. Loan : Interest

Select the number that can replace the
question mark (7) in the following series.
512,768, 1152, 1728, ?

36.

37.

38.

a% fAweq g fore vt & 9t o waw 8
S & v 9T 3w @ 4 &
am 4

A. T -5 B.99qd : 9

C. ¥oq& : 7 D.37<H : 8

3% o g i o=l & 9 af
ey & o 3 g v g @ 4 2
HITS: fhdre

A. B : gl
C. °rq : M

ag Wy g o Arferflae ot #§ nes
fae (7) &1 == & Hadr )
512,768,1152, 1728, 7

B. ufgar : &R
D. 3 - &Ena

A. 2888 B. 2172 A. 2888 B. 2172
C. 2482 D. 2592 C. 2482 D. 2592
39. Select the number that can replace the | 39. 98 T g+ it fF=foilea St # wee
question mark (?) in the following e () &1 W= o Gha &
series. | 511,255, 7, 63,31, 15,7
511, 255, 2,63, 31, 15,7 |
A. 124 B. 127 | A. 124 B. 127
. 5 D. 12 . TI5 D. 125
40. Three of the following four optionsare | 40. =9 IR fd&eul # ¥ O & vor &
alike in a certain way and one is different. A € SR UF JWId 8| ST Bl
Pick the odd one out. fafea &%) |
£ g XD A B.
[l []® (]GO B0,
S O S R ) o p.
(]G [«]@ ‘ [=]GD
PA/AB 8 10210804208
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41.

42.

43,

45.

In October 2019, the Ministry of
Environment, Forest and Climate
Change (MoEFCC) launched the first
national protocol to enumerate the
population of which of the following
elusive and endangered species in India?
A. Snow leopard

B. Indian rhinoceros

C. Guijarat lion

D. Bengal tiger

In which year was the River Ganga
declared a national river?

A, 2004 B. 2008

C. 2014 D. 2016

Which of the following states are
connected by the Palghat Gap?

A. Maharashtra and Goa

B. Kerala and Tamil Nadu

C. Tamil Nadu and Andhra Pradesh
D. Karnataka and Kerala

Which of the following Harappan cities
was divided into three parts?

A. Lothal B. Mohenjodaro
C. Kalibanga D. Dholavira

In which year was the Supreme Court
set up by the East India Company in
Calcutta?

41.

42.

43,

45.

vatqwr, 99 U9 Searg gRad Jared
(MoEFCC) + Jracay 2019 # wRd 4
4 3 e o 3R Favg gonfa &
H&T B NUET B B G A
Heidie A faar o ?

A. few dganm

B. WRa™ ST

C. ToR/M oI fHe

D. 9 EER

fopey o & 717 E) B U TG "t
fasam T o ?

A. 2004 % B. 2008 #

C. 2014 ¥ D. 2016%

299 ¥ DA ¥ Ud UTTHIE g9 9 3T
YOS U E ?

A. HERTE 3R Al

B. F¥ 3R dfarg

C. afferrg iR a7y wew

D. PAled AR HA
ESWIhIcl $T 94 | $IF 9 TR, a4
it & o ar ?

(A) wge (B) g T
(C) Sreiramm (D) iR

v 3fear o A 5w ad § Herar

Y gared AT 9 RITIAT @f off ?

A. 1757 B. 1765 A. 17574 B. 1765#
C. 1713 D. 1792 C. 1773 % D. 1792%
804209 PA/AB
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47.

48.

49.

50.

In 2019, who took the oath as the Chief
Minister of Haryana for the second
time?

A. Bhupinder Singh Hooda

B. Anil Vi

C. Manohar Lal Khattar

D. Dushyant Chautala

Who was awarded the Nobel Prize in
Literature in 20197

A. Abiy Ahmed

B. Peter Handke

C. Olga Tokarczuk

D. Bob Dylan

The Indian cricket team played its first
ever day-night test match against
from 22" to 26™ November 2019,
A. SriLanka B. England

C. SouthAfrica D. Bangladesh

Who won the US Open Men's Singles
title in 20197

A. Rafael Nadal

B. Daniil Medvedev

C. Andy Murray

D. Nick Kyrgios

Who was the Chairman of Indian Space
Research Organization (ISRO) when
ISRO launched Chandrayaan 2
mission?

A. Dr. K. Sivan

B. A.S.Kiran Kumar

C. Shailesh Nayak

D. K. Radhakrishnan

46.

47 2

48.

49.

50.

2019 ¥, fFaq gRaon & gEnE &
WU H g 4R 99y off ?

. ey &8 o1 A
. e faw =

E
:
3

22 ¥ 26 Aga% 2019 dd MR fhde
e 9 31U HeY UBdll fad—d o
A7 @ fawg e |

A. #icdr B. gwis

C. o i@t D.  aiveay

2019 # .U, A" JoY Ul e
fre= Siar?

. %ol Ferel H

. SFe #EEg A

. TS WA

. e feforara &

= =

= O

g™ (ISRO) ERI dga 2 fes @
ftb S & T e faRer s
H134 (ISRO) & 3Ea8 14 o ?

32
:
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51. How many fundamental duties were 51. 42 ¢ wfdu |HIMuE & A 8 AN
included in the Indian Constitution dfegr 4 fbaa Hifers e wfFferr
through the 42" Constitutional fdr g < ?

Amendment?
A. 11 B .9 & H B. 9
€. 10 D. 12 C. 10 D. 12

52. Under which writ does the courtorder =~ 52 1% FOPN & el A, 3R

a lower court or another authority to - il oell 374 er % e

_ _ : dfad f6dl 7P &I J=a ke ar
transfer a matter pending before it, to e A EaRa B B R
the higher authority or court? a1 22
A. Mandamus  B. Quo Warranto A. OEIRY B. R g
C. Certiorari D. Prohibition C. I D. e

53. The famous historical monument 53, rex g7 g9aran a1 uie ot
'Buland Darwaza', built by Akbar, is BING ‘TG GvaTall 9o Hay & ——
situated in the district of ' — furet 7 e 2
Uttar Pradesh.

L A. Meerut A. 93
B. Kanpur B. YR
s C. Agra C. IR
D. Allahabad (Prayagraj) D. SeTEErE (RFR)

54. Which Sikh Guru's birth anniversaryis | 54. &9 Ri@ 1% @1 Sl ouwa @ER
celebrated as the festival 'Gurupurab'? & ©Y H AAIg Wl @ ¢
A. Guru Gobind Singh A. 7% TidE e
B. Guru Tegh Bahadur B. 7% T EIgR
C. GuruArjan Dey C. 7% 3o <9
D. Guru Nanak Dev D. 7% HE <9

55. Which of the following folk dance 55. 9 9 P 6 Al sRAw 5y |
forms is NOT associated with the state HafT el € ?
of Haryana?

A. Dhamal B. Khoria A. T B. Wi
C. Jhumar D. Jawara C. W D. wEwT
10210804211 11 PA/AB
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56. Which of the following banks is NOT | 56. “Rd # g7 & ®19 @ #5 adwfes
a public sector bank in India? & @1 deh T8 # 7
A. Allahabad Bank A. FeITEmETE da
B. Punjab National Bank B. Ui J9A 4@

C. UCO Bank C. ol d&
D. Federal Bank Ltd. D. Hevd §& fer.
57. Which scheme was launched by the  57. 2015 ¥ Uu=H4A1 g1 iR — ®fuRe, N
Prime Minister in 2015 for providing F o/ GeA FEHl B 10 E’Iﬁ Eil
loans up to 10 lakh to non-corporate, FO W& B @ forw g9 | B W
non-farm small/micro enterprises? a1 g% @f 778 o ?
A. Pradhan Mantri MUDRA Yojana A. VETTHA H&T AISTT
B. Make in India B. A% 3 gfeur
C. Ujjwal Bharat Yojana C. 79 MR qrarm
D. Atal Pension Yojana D. 3rEsl Y drorn
58. Which of the following Commissions | 58. 3% 9 9 amamr 2 fFai & forv
is mandated to recommend the SFAH R ey SRR weer sifard
minimum support price for farmers? T 8 7
A. Commission for Welfare of A. THu™ Hearmr s
Farmers

B. Commission for Agricultural Costs B. $ft @ra vd @ ST
and Prices

C. Commission for Agriculture C. ot afE amam
Growth

D. Commission for Agricultural D. oft fawra vd gy smam
Development and Growth

59. Prime Minister Narendra Modi launched | 59. wa==dl ¥z #id) 4 2019 A

the Fit India Movement in the month of fse gfear yaie o yvana & o |
2019.

A. July B. September A. Ses B. fdaw

C. October D.  August C. Jagan D. 37

60. Who among the following developed  60. WM @1 g (e sife Rafefad)

the Theory of Relativity? s ¥ fas gr ufy wifRe fsar
o[ 7
A. Madame Curie A. Hs® gl g
B. Albert Einstein B. 3cuc FE=Ed 2
C. Alfred Nobel C. &hs Aaa Z
D. Charles Darwin D. =y Sifds g
PA/AB 12 10210804212
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61. The first generation of computers used: 6l. B D FFEAH @
T fdvar ST o |
A. vacuum tubes A. Fdm afaael @9 ogea) &
B. transistors B. WS (Fifsred) @
C. semiconductors C. I=dradl 3
D. mechanical gears D. Fitas ey &1
62. Which memory is NOT primarily based 62. F=folRea 4 9 = @ 99 (1)
on semiconductors? HE w4 H 35 el YN ARG 8!
A. Main Memory A. ¥ wfa (F59)
B. Cache Memory B. gfter e (691 7H)
C. Secondary Memory C. fexias e ()
D. Registers D. fored
63. Fiber relies on ___instead of 63. eI HaR % fog HrgaR ﬁiﬂﬁ 1 ST
electricity to transmit data, which ———— W R e €, o aifa e
facilitates much faster internet MY F ST FTTC FAGH DI Qz[ﬁMTQ
connections that are capable of handling | WET el /Tl & 1 S defager wTer
higher bandwidth. ¥ wEH B £ |
A. electricity B. light A. faEm B. v
C. electromagnetism D. magnetism C. fega—gasd D. gad
64. Which of the following cloud 64, F=fofaa 4 9 fFa Toos IERY
infrastructure provisioned for exclusive X Em EHREIAY) H 3D
use by a single organisation comprising SWNTEGaR arel B0 THe e
multiple consumers (e.g., business l:““*_g"':'_ IS FH1E]) N i-?T‘_F”
units). It may be owned, managed, and W aﬁfi = W ? ? _”E"" Lol
operated by the organisation, a third SR Eﬁ_ﬁ{ il FJ_FIT ¥ mdﬁ .%IT{T
party, or some combination of them. e % v SR SR HeieRT 13
A. Private Cloud bl
: o A. Tl Foios
B. Lnlnlmll:m}'[ loud R ?‘I’[ﬁﬁTﬁﬁi o
C. Public Cloud . i A
D. Hybrid Cloud | b Tk e
10210804213 13 PA/AB
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65. What is common between Chrome,  65. M, THRI 3R 3T & 419 F91 FHT
Safari and Opera? They are all: g?awiianE?
A. web browsers A. 99 fdR® (9 go)
B. searchengines B. @ g9 (Wd gforw)
C. social media sites C. Hreret Rifear fQavor — wat (WEew)
D. web services D. 99 Hard
66. ADSL provides data =~ 66. ADSL &eT 73 ® sifew W
rates in the downstream direction, from W $Eg HA— W d@ SN e &
the central office to the end user, than | HUET De FR-WE | oW ga @
in the upstream direction, from the end sErTE e # weE @var 8
user to the central office.
A. higher A. TEM
B. lower | B. R
C. equal C. 9
D. higher or lower (depending upon D. SEaR A1 fFsray [warar o Ser
provider and traffic) HeR — ufarer (2fthe) uv fie)
67. In web development, a is  67. ¥4 A& A — 1P ISR B 99 IEHERT
a web application that combines (oefraer) & 9 vaet RIS SRTba®
multiple services to create a single new (Rrra mfhda gevon) | weffia vaa
service displayed in a single graphical | 41 A1 BT Ford D & o1y 98 Hawsil
interface. ' @I Ao Hear 8|
A. Multicasting A. Heel SR
B. Moodle B. Tedl
C. Meme | C. #
D. Mashup D. AR
68. The terms 'crawling', 'indexing' and | 68. ‘@iferT, ‘gSfdaT siv 1 weg fbw
'ranking' are related to: o Hafa € ?
A. phishing A. gramst ([{BR) «
B. search engines B. @il 3w+ (949 3foM) 9
C. browsers ‘ C. fa=R®i (Frevd) 3
D. internet service providers - D. Sexe 9ar ueaRi |
PA/AB 14 10210804214
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69. What is the keyboard shortcut to paste | 69. Microsoft word rgel ¥ fiermaré

the contents of the clipboard in a

T B IR Fv @ fow e o

| Microsoft Word file? ‘ vifedme w1 WA fhar o € 7
A, Cul+P A. Ctrl + P &1
B. Cul+V B. Ctrl +V &1
C. Cul+C C. Ctrl + C @1
' D. Cul+ X D. Cul+ X &1
} 70. When entered in the cells of a Microsoft | 70. W4 Microsoft Excel a@dic & Waa!
| Excel worksheet, numbers are, by (¥ew) ¥ G=] wfaw 91 o €, 1 a
default, __ g4 feife Ref (@é Rwie) err ——
| gl # |
! A. leftaligned ‘ A. T IR wifaa
B. centre aligned | B. #g ¥ Hefigq
'. C. rightaligned C. <18 six wRfd
D. justified D. wH urdfa (GiewEgs)
t 71.  In Microsoft Word, you can customise 71. Microsoft Word #, 3i1q
or choose predefined margin settings &1 =99 B gd fAuifa s
r by going to erawerall (i wféwa) #1 sgied
(FeHg) &R Had & a1 g9 Had & |
A. Layout > Margins A. Layout> Margins
B. Insert> Margins B. Insert > Margins
C. Review >Margins ‘ C. Review > Margins
D. Draw > Margins D. Draw > Margins
72. In Microsoft PowerPoint 2016, | 72. MS-PowerPoint 2016 %, __
contains formatting, ‘ wge W fRwrE a9 qref W
positioning, and placeholder boxes for aEfal % fore widfer, g
| all of the content that appears on a slide. 3l @Y geee dfew fAfda err &
| A. Outlineview  B. Slide format A. VeI &7 B. WSS Bie
C. Slidelayout  D. Slide master ‘ C. &ge oge D, Wigs AveR
| 10210804215 15 PA/AB
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73. In MS-PowerPoint, ‘ 73. MS-PowerPoint#, 319
lets you copy all of the formatting from U fagg | e Gwunr (Bife) @
one object and apply it to another one. DY B IR TH TN gy 7 gaEm

B | eIl 4S5 e 2|
A. Format Style A. Biic wEd
B. FormatAll B. ®ife 3t
C. Format Paste C. e U
D. Format Painter D. BiHe Yex

74. When you're using 74. w4 M @ AT Y W@
you'll always be running the most up- &1 &, Tl 319 Hag ATShIage gR1 IR
to-date version of the apps that fd T wEifde sw (Fuees) U
Microsoft can offer. This unlocks 9ol %8 Bl & | 78 Aafid yen srerasi
regular security updates, improvements (eruSew), ERI 9 UEHe (3clia) Hedl
and more importantly, access to the a3 afy HE@qul wU W, Ad9aH
latest features and tools as soon as they faRrean &k geq o & Suaer 81
become available. &, IP1 SUTTH Heardl B |
A. Office 2019 A. Office 2019
B. Office 365 B. Office 365
C. Open Office C. Open Office
D. Cloud Office 2019 D. Cloud Office 2019

75. In Microsoft PowerPoint, you want to ‘ 75. MS-PowerPoint # 3119 T8 GfRa &
ensure that your company logo appears Hed & f& AUH HIA! BT Fird e
on the right-hand top corner of all the (@rm), foslt wew gegfoever § W
slides in a given presentation. Which gy @ HUd g B Y fewrs 2|
of the following views would you use ‘ U1 e & fore amus frfefiaa 8 9
to do this? ﬁmalmmmg’m[?

A. Slide Sorter A. Tgs Hiex &
B. Slide Master B. TIEE #AREY &
C. Notes Master C. #ed AN &l
D. Outline View D. 3MSedgT I B
PA/AB 16 10210804216
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76. To insert a table of contents in a  76. Microsoft Word 2016 wor (Sfegic)
Microsoft Word 2016 document, you ¥ wwfar o aiferer we &\ @
would need to go to the forg amoer A @9 WG
| menu tab. ‘ &R |
A. Layout B. Design A. TRIEe B. feumgs
.l C. References D. Insert C. s D. &
r 77. Inreference to Microsoft Excel, please ‘ 77. Microsoft Excel & wad #, ual
see the contents of the following cells: F=fafaa vt () o wmid 39|
4 | e 4 » | e
1 4 § - ' 1 4 6
2 5 8 ‘ 2 5 8
Cell A3 has the formula =A1*$A$2. et A3 &1 g3 = A1*$AS2 & s
| The formula from Cell A3 is copied to (@) A3 & 93 &1 uare (Ae) B3 4
| Cell B3. The value displayed in Cell B3 ‘ Hrg fvar omer 8| yere (Wef) Ba #
I will be: | waf¥ A @ g ?
A. 40 B. 20 A. 40 B. 20
l C. 30 D. 48 .| C. 30 D. 48
; 78. is an established set of rules 78. st &1t wnfla waE &
that determine how data is transmitted it a8 iR e & @& v & done
between different devices in the same ‘ (Yead) ¥ fafr= suswi & 4 e
network. Essentially, it allows &1 g e waRa fban s | arfeard
connected devices to communicate H9 W e G UG B S0 H
with each other, regardless of any HEROT B =T & 9 &) S AfaRke
differences in their internal processes, ‘ wfshareti, |v=mT ar sifveey (fEams+) §
structure or design. FIE i< B |
A. Network Software A. Tead diteda
B. Network Protocol B. Yo9% WieiaT
C. Network Media ‘ C. Jeak Hifsar
D. Network Operating System D. Jea% it e
- . il
10210804217 17 PA/AB
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79. A is a collection of | 79. ——U& Hiftd ®I=, O wa,
devices connected together in one HETAY A1 B A U A1 S SUHIN
physical location, such as a building, @ UH WUE &| g8 ©BICT A1 98T B
office or home. It can be small or large, Hehal &, fowd ue Sudiadl & W
ranging from a home network with one ‘ U% 8 Hollel (81 Aedd) W AN U
user to an enterprise network with Hrerd A1 faerad # BNl Uit
thousands of users and devices in an 3R ISR F W FEH Halrel
office or school. (Gexrss wcad) & gdhar & |
A. LAN B. WAN ‘ A. LAN B. WAN
C. MAN D. Cloud C. MAN D. Cloud

80. What is the full form of "TCP"? 80. TCP' T quf W&&Y 41 & ?

A. Transmission Carrier Package ‘ A. TERIE HRIR
B. Terminal Control Protocol B. =ff7a sgie urewle
C. Transmission Control Protocol C. TNIfAeH Hera dieidia
D. Transport Control Protocol ‘ D. TUE FHeld dieidbia

81. Which one of the following devices is = 81. ¥R el ¥ dwed & |

 used for connecting computers in a star av % forg F=ifeRes # 9 g suasvor
topology? &1 yarT faar o 27
A. Hub B. Repeater | A. B9 @I B. fRiier @

C. Bndge D. Router C.fas & D. 3eX &1

82. In which topology are all the network | 82. fr=fafRaa # & fw el § af
nodes individually connected to a Hoflel Hitat (Fedd Arew) aifderd su
central switch, hub or computer that H US hurg a9, 59 a1 HYEY U G
acts as a central point of Bl € Wl Hedll R 9 &y & for
communication to pass on the ‘ IR % US g fig & ®9 § s
messages”? Bl & 7
A. Star Topology A. ¥R Tl
B. Ring Topology B. a1 Srafet
C. Bus Topology ‘ C. 99 crardra
D. Hybrid Topology D. sizfds SmErel

PA/AB i8 10210804218
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_. 83. Aliyahas 2600 MB of data. Dineshhas | 83. anform & wiw 2600 MB ¥e1 8| =
| 4000 MB of data. The combined data & U 4000 MB ¥eT 81 ¥ QA W
would fit on a USB flash drive of 2 UYH TU W WS &
} storage capacity. a1l U USB weter @18a 1 STell ff Webell & |
A. 1GB B. 2GB A. 1GB B. 2GB
C. 6GB D. 10GB C. 6GB D. 10GB
84. Which of the following binary | 84, fy=fafea # & frw Ramrd wftkar
operations would give 111010 as the (arg=) 3ifaver) 1 ke 111010 E1NT?
result? (All numbers in this question are (59 97 & 90 St Famed wwen
in binary number system) g @ Fax Rren) 9 €)
A. 111111-1011 A. 111111-1011
B. 100101 + 10101 B. 100101+ 10101
C. 110001 + 10101 C. 110001 + 10101
b D. 111101- 101 | D. 111101- 101
85. The is a small program that | 85. TS WOR HI dY WaH 2
controls the computer from the time it el %ﬂﬁ Eﬂsﬂ-—fﬂqg:;}i T
wers on until the time the operatin bl aE a8
E:stem takes over. ¢ ) ﬁ.‘ o ﬁﬁ f Rives ¥ o
g A a8 |
A JCMOS o pHION A. CMOS B. BIOS
C. EPROM D. POST C. EPROM D. POST
86. What is the typical range of RAM size 86. siffthew & @™ ¥ war v o= a
in a standard laptop used for office ‘ was auerd § RAM & aR &1 39
work? W 1 el 87
A. 128KB-256KB A. 128KB -256 KB
B. 256 MB-512MB B. 256 MB -512 MB
C. 4GB-16GB C. 4GB-16GB
| D. 128 GB -256 GB ‘ D. 128 GB - 256 GB
|
10210804219 19 PA/AB
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87. The part of the CPU which contains | 87. CPU @1 @& #m1 frad wfbed am
circuitry that uses electrical signals to BT & SR O WU W B
direct the entire computer system to gmmwgﬁngﬁ
f:an-y 0}1[ {JI: execute stored program M ghanse Sl
instructions is known as:

. ST ST 87
A. L'urntml u.ml | A e e
B. arithmetic and logical unit B. tRepifRs 3k differea 7fre
C. register C. W=
D. program counter D. WUH $rgey

88. requires constant power | 88. P BH PYd B & [0
flow in order to function. Because of AR [5G g 31 smavadar usd
the continuous power it doesn't need g1 Fmar g smufd & w1 F
to be 'refreshed' to remember the data BN 59 &% 3NEX WS [bU W arel
being stored, However, it is a volatile ST B AE WEd F forv qwer 8
memory, which means that all the data HAT TSl = | Felfh, T8 U AR
that had been stored becomes lost once W Bl 8, e aef & 6 v an
the power is cutoff. fagge amgfy arfte 89 ov gud qeiRa

ORI ST & rr & |
A. DRAM A. DRAM
B. SRAM B. SRAM
C. SSDRAM | C. SSDRAM
D. SDRAM D. SDRAM

89. A multitasking operating systemmeans | 89. HeelelRe T ifRfen ey &1 aef g8
that: & fa:

A. multiple computers can be | A. T3 FU B UH WY egh
netwarked together. S el 8 |

B. multiple people can use a computer B. @8 @ U% ®9eY &I Ud |
concurrently AT &R GEHd 8 |

C. several programs can be operated C. 950 9 WU & TS 91 Hare-
concurrently farar @1 Hear 2|

D. the operating system can divide D. sfwicT fwen, =1 CPUs &
work between several CPUs | qr" B B fifora e wadar § |

PA/AB 20 10210804220
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90. Which of the following statements is | 90. Microsoft Excel # 3ffe1 flheer fadeq
NOT true with regard to the Auto Filter % way # fR=ferfaa § 9 ®F W FUF
option in Microsoft Excel? we T8l 8 7
A. By filtering information in a | A. 5 gdiie 4 a1 a1 fheex
worksheet, you can find values | XD, A9 SfeeT I B Sog WIw
quickly. HY HHd & |

B. You can set a filter on one column B. M7 U HHY H ¥ F UFH HicH
of data at a time. ‘ TR U% fhoey B & ahd © |

C. You can control not only what you C. 3y 7 Haer 9 R o ¥ &
want to see, but also what you want ST 39 < 9rEd # afed 99 Al
to exclude. T Y el @l gEd £ |

D. You can search for text and numbers ‘ D. 3y 3ifel fheex e &1 wam
using the Auto Filter option. Hh Cave IR HEA Wil Had & |

91. The second generation of computers | 91, HREX &I g GGl W
were based on ‘ amenRe ot |
A. integrated circuits A. UdIFHd giRae
B. transistors B. W@

C. VLSI chips C. VLSI for=s
D. vacuum tubes D. fAdme wferarai

92. Which one of the following input 92, #®i # I&i &1 HWRT S % oIy
technologies do banks use to process do fPrfafaa 4 § @ @ fAfafe
cheques? AP-Ie @ WANT HYd & 7
A. OCR A. 3. 9. 3R (OCR) @1
B. MICR B. UH. g ¥l 3R (MICR) &1
C. OMR C. 3l T4 3R (OMR) &1
D. Pixels D. Mede @i

93. In the context of computer processors, 03, HYeT TEME F Had §, ALU &1 o
what is the full form of ALU? @y a4 8 ?

A. Arithmetic Logic Unit A. Remifes @ifoa e

B. Array Logic Unit B. W difeis gfe

C. Application Layer Unit C. TiHI oiR gfe

D. Application Layer Usability D. Tel®eH gy golfaferd
10210804221 21 PA/AB
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94. Which one of the following is NOT an 94, fw=ferRes & 91 a1 U& wdioH 9=3@ 41
Object Oriented or Object Based ‘ WAt SR swwraer (WranfHET) wm
Programming Language” T8 g 7
A. Perl B. Ruby A. T B. w4
C. Python D. € C. ursH D. €

95. Which of the following binary ‘ 95. fr=feiiea 4 | @19 A fGamerd |k
operations would give 101011 as the qRomH w@wd 101011 &M P(EE g A
result? (all numbers in this question are ‘ il Hemy fgamemd wean yore # #)
in binary number system)

A. 100010+ 11001 A. 100010+ 11001
B. 110101 -1010 B. 110101-1010
C. 101111-1100 ‘ C. 101111-1100
D. 100101+ 1010 D. 100101+ 1010

96. is the number of bits | 96, U HHHE & AARS ST
in the internal databus of a processor. | a9 ¥ fadca @ den ad 2| 18 facw
It is also the number of bits a processor @1 98 | A B 8, o waee e
can process at a time. ar | ST &Y HHar 8 |
A. Control Unit ‘ A. T sar8 (@1 gfie)

B. DataLength B. Sear o
C. Word Length C. T8 &y
D. AByte D. % arge

97. What determines the number of 97, & Hams g1 ofty FFs & &1 G
operations per second that a processor arell Affhamil 31 wen &1 FAui fGae
can perform? It is expressed in &1 faan wrem & 7 39 WEes (MHz)
megahertz (MHz) or gigahertz (GHz). a1 imEes (GHz) 3 =5 fbar wier 2
A. Clock Speed A. doile s
B. Bandwidth B. dsfasy
C. Freguency C. Jmgky
D. FLOPS D. ¥ (FLOPS)
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98.

100.

Which one of the following statements
about MS-DOS is true?

A. It is an open source software.

B. [Itcan multitask.

C. It has a Command Line Interface.
D

. It supports multiusers.

Which of the following statements

about kernels is INCORRECT?

A. Itis a computer program that
coordinates all executing utilities.

B. Itis a computer program that
controls all computer operations.

C. Itisacomputer program that
schedules and manages all system
processes.

D. Ttis a computer program that
provides an interface between a
user and an operating system.

To create new volumes and format a
new disk that you just installed on a
Windows 7 computer which tool would

[ 98. MS-DOS @ aR ¥ Fyiforraa § & &

|

100.

a1 HYUF FEl B ?

A. T8 U Gell T (9 R
wfweaar B

B. U8 % HRI 3+ B B Gl & |

C. 399 U& MY @1 FeRHeAd
(@HiS Sgs 2e7EH) BT 2|

D. U8 UF ¥ 0 IUrTHdars &
HHA B & |

Fe @ 9N ¥ Fr=fefed § § a9 @

HUF Ted & 7

A. T8 T HER HHRY (o) & o
i) e Suecael (@feferd)
&1 Ay Bl & |

B. ¥ UHI HUER HHIGY (HIH) & 9
¥t P’ yrEre Bt R awar g |

C. & Tl Hgex HARe (W) & o
it womredt sftbanait @ fAuffa sk
arafterd &l & |

D. ¥& U X HARY (N1UH) &
SUTeR] 3R WETeT= WorTe & 4
U IFRHS SUeTE HRarT & |

A apfi—anft fders 7 dweR 3 o
v genfia (i) @ 8 S8 =y
s (dfegm) a9 3R &3 &1 Swiua

You set (fe) e % forg amu Frefefa 3
¥ fra \m= (g@) &1 e w97
A. Disk Utility A. &% gleferdl @
B. Format | B. WiHE @I
C. Disk Management | C. f&w fmarie &
D. Disk Manager D. f&w AR o1
|
|
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Read the following instructions carefully:

Prafefea ! am & o -

1

Qut of the four alternatives for each question, only one circle
for the correct answer is to be darkened completely with
Black Ball Point Pen on the OMR Answer Sheet. The
answer once marked is not liable to be changed

The candidates should ensure that the Answer Sheet is not
folded. Do not make any stray marks on the Answer Sheet Do
not write your Roll No. anywhere else except in the specified
space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as under
no circumstances (except for discrepancy in Test Bookiet),
anather set will be provided

The candidates will write the comrect Test Booklet Series as
given in the Test Booklet in the Attendance Sheet.

Each candidate must show on demand his / her Admit Card to
the Invigilator

MNo candidate, without special permission of the Center
Superintendent or Invigilator, should leave his / her seat,

The candidates should not leave the Examination Hall without
handing over their Answer Sheet to the Invigilator on duty,
Cases where a candidate has not signed on the Attendance
Sheet will be deemed not to have handed over the Answer
Sheet and dealt with as an unfair means case.

Use of Pencil/Electronic/™anual Caleulator Is prohibited

The candidates are governed by all Rules and Regulations of
the Commission with regard to their conduct in the
Examination Hall. All cases of unfair means will be dealt with as
per Rules and Regulations of the Commission

10. After Examination is over, candidate has to retumn his Answer

Sheet to Invigilator, Invigilator will hand aver the Candidate’s
copy to candidate, then only candidate is allowed to leave the
examination hall. Candidate is only allowed to take Candidate’s
copy of answer sheet.

11. Candidates are not allowed to take Test Booklet with themn.

They have to submit the Test Booklet to the Invigilator after
the exam.
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